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This is also one of the major reasons of unemployment in India even today
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Pressure to cut costs and increase flexibility, together with strict labour laws affecting only formal enterprises, form clear incentives for formal enterprises to subcontract activities to the informal sector and thus pushing more and more people in the informal sectors. 
A large informal economy exists because low wages allow it to compete with the formal sector but many times, informal economy also sustains profit in the formal economy as mentioned above
The absence of employment opportunities in formal sector also explains a large informal economy.

One of the recent criticisms is how we are focusing more on assembly than actual manufacturing but that is how every country starts the process of industrialization before moving up the value chain to value-added manufacturing.
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 addresses areas of regulation, infrastructure, skill development, technology, availability of finance, exit mechanism etc. 
Also proposals inc. easier norms and rules 
to attract foreign companies

National Land Bank Portal

100M manufacturing jobs

write concrete things like these in infra, also capex as % of GDP
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On benefits of formalization:
The formal sector firms are much more productive when compared to their informal counterparts. The reason for lower productivity of informal units is lack of financial resources, technical expertise, professional management etc. which results in low wages in informal sectors. This hinders the overall progress of the labours as they are not able to upgrade their skills and are stuck in the same kind of task for their lifetime and remain destitute. If we really want that the condition of the poor improves and we could achieve inclusive growth then they must be brought into the formal employment.

China+1, Ageing China losing     cheap labour      advantage    => industrialization opportunity for India

Federalism dimension: There's only so much the centre can do since most of the subjects relating to industrialization are actually within the domain of the state under Sc 7. Land (state subject), Labour (concurrent subject), power (state subject => issue of free electricity and cross-subsidization) => we see so much regional variation in industrialization => states must get their act together.
Data to illustrate this: As per Annual Survey of Industries by MoSPI; 5 states (Maha, Guj., TN, Karna, UP) account for abt 55% of India's manufacturing GVA as well as employment.
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